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(4)(x—4)?2-8=0 (x—5)* =24
(x—4)72=8 x—5=%2/6
x—4:iZ\/§ x:512\/€
x=4+2\/2

i TR 1M TR 9



RGN EZDRETT
(x> +px+g=0)

H Ak
A (

"\‘ Point ! %

Ox*+px +q =0 DD X FERIZ,

2 PN (P o

X +px+<2> = q+<2> DIEZEES,
@ x+pl=nDBEE5,

O RDITEAZ MBS 2 S\,

(Dx2+6x—1=0 (2)x>+2x=5=0

x?+6x =1 X2 +2x=5
+6x+9=1+49 P H+2x+1=5+1
(x +372 =10 (x+1)*=6
x+3=%4/10 x+1=%v6
x=-3%4/10 x=—=1%+/6

3 RO 1ET RGN

Step 1 EA A E

ORXRDITEAZBRE LS v,

(1)x*+8x =5
X2+8x+16=5+16
(x+4)? =21

x+4==x+/21
(2)x>+2x =3
X24+2x+1=3+1
(x+1)2=4
x+1==x2
(3)x>=10x-=3=0
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